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a) Calculate the numerical value of phasor current, Iy, flowing into the load

impedance, 71, on the secondary side of the transformer. Note: the transformer
is linear. , v
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b) The turns ratio of the transformer is N1/N = 6. Calculate the numerical value of
phasor voltage, V, shown in the diagram. Note: the transformer is ideal.
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And we use Kirchhof#’s laws or other
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We need one more eguq-écon, in addrtion
to the transformer eguationgy. We -turn
to lf‘cﬁﬁoffls laws and :/:c‘/zd/ that
we are able Lo write another e/uqﬁm
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Neote: We could have solved +€his more
fa[ ckly, b y obseruc'ﬂ? earlicr that
we really have the ﬁ/fowt‘hj eg/'r/.
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